


Top view of link connection

9" Link Plate

6"

.

X &

‘———PZ 1/2" Spacer

/7 5/8-11 Threaded Rod (by Installer)

1/4" x 6" x 9"L Copper Link Plates
1/4" x 68" x 2 1/2"L Copper Spacers

2 5/8"H Insulator with 5/8-11 Threaded Inserts

Charge Battery & Discharge Ground

ltem | Sym. Description Hole Size | Bolt Size Qty. Bolting Hardware/ea.
@ () |Link Plate Bolt 5/8" 1/2-13 8 Top: FW/ Bottom: FW, LW, Nut
FOR:
O Center Link/Insulator Bolt|  11/16"| 5/8-11 2 FW, LW gcot .
ectronics
FW= Flat Washer COMCODE: ‘ REVISION #

W= Lock Washer

Note: Refer to Component sheet for number
of splice plates and spacers per link connection

Cus Berthold Electric Co.
1900 W. CARROLL AVENUE
CHICAGO, ILLINOIS 60612

TELE. 312—-243-5767

FAX. 312-243-5811

PESCRPTRN orge /Discharge Installation Drawin
9 9 9

Link Connection

DRAWN: MSH

SCALE:3"=1"

DRAWING NO.

DATE:  03-03-03

DWG. SIZE: B

C/D-1




5/8-11 Threaded rod (by installer)

7

2 5/8"H Insulator with 5/8=11 Threaded Inserts

1/4" x 8" x 9"L Copper Link Plates
1/4" x 6" x 2 1/2"L Copper Spacers

Charge Ground

KRN

W

s BARANNs il

j‘}
©

=
> 5/8-11 Threaded rod (by installer)

]
= w i i |
e Charge Battery
= i - - T
i
\ [N 3
®
ltem | Sym. Description Hole Size | Bolt Size | # Reqd./ea. Bolting Hardware/ea.
@ () |Link Plate Bolt 5/8" 1/2-13 16 Top: FW/ Bottom: FW, LW, Nut
@ |Center Link/insulator Bolt | 11/16" | 5/8-11 2| Fn W “ tyco Gus Berthold Electric Co.
(©) | @ |t Thrensed Rod Sta | 117160 | N/ 2| None Electronics CHIoACD, 1IN0 S081n

FW= Flat Washer
W= Lock Washer

Note: Refer to Component sheet for number
of splice plates and spacers per link connection

COMCODE: ‘ REVISION # TELE. 312-243-5767 FAX. 312-243-5811
DESCRATRNG rge/Discharge Installation Drwaing DRAWN: MSH SCALE:3"=1" DRAWING NO-
Link Connection DATE:  03-03-03 | DWG. SIZE: B C/Di2




6"

/75/&“ Threaded Rod (by Installer)

/—Q 2 5/8"H Insulator with 5/8-11 Threaded Inserts
[ [ I

Charge Battery and Discharge Ground

0

ltem | Sym. Description Hole Size | Bolt Size | # Reqd./ea. Bolting Hardware/ea.
@ @ | Insulator Bolt 11/16" | 5/8-11 2 FW, LW - tyco Cus Berthold Electric Co.
FW= Fl Wosher Electronics CHIAGO, ILUNOIS 50812
7 ok Hoster izs;i%ﬁ‘orge/mschorge \nsto\\oti(‘):ws:j:wimg Zi;SM:}%i;:T F/S:*'W‘N?Ni?ﬁ%gﬁ
Insulator Connection DATE: 03-03-03 | OWG. SIZE: B C/D-3




—

5/8-11 Threaded rod (by installer)

2 5/8"H Insulotor with 5/8-11 Threaded Inserts

| A
i : Charge Ground
O U
[ [ [ ]
®
>> 5/8-11 Threaded rod (by installer)
=
= Charge Battery
il
\ ®
ltem | Sym. Description Hole Size | Bolt Size | # Reqd./ea. Bolting Hardware/ea.
(D) | @ |msviotor Bott 1/16" | 5/8-11 2 FW, LW “ tyco
(E) | @ |Threated Rod Stud 1/16" | 5/8-11 2 None Electronics

FW= Flat Washer
W= Lock Washer

COMCODE: ‘ REVISION #

Cus Berthold Electric Co.
1900 W. CARROLL AVENUE
CHICAGO, ILLINOIS 60612

TELE. 312—-243-5767 FAX. 312—243-5811

PESCRPTRN orge /Discharge Installation Drawin
9 9 9

Dual Tier Insulator Connection

DRAWING NO.

DRAWN: MSH SCALE:3"=1"

DATE: 03-03-03 | DWG. SIZE: B C/D74




16 5/8" Bypass Link— Stored

Charge Ground

Stored Position

16 5/8" Bypass Link

16 5/8"
45/8

Charge Ground

&

Bypass Position

/
®

®

\

\

\

\

! .
\ Discharge Ground
\

\

\

\

|

ltem | Sym.

Description

Hole Size | Bolt Size | # Reqd./ea.

Bolting Hardware/ea.

P | ®

Shunt Bypass Bolts

5/8" 1/2-13 8

Top: FW, Bottom: FW, LW, Nut

FW= Flat Washer
LW= Lock Washer

Note: Refer to Inventory sheet for number

of Shunt Bypass Links

FOR:

Electronics

COMCODE: ‘ REVISION # TELE. 312-243-5767

1900 W. CARROLL AVENUE
CHICAGO, ILLINOIS 60612

tyco Gus Berthold Electric Co.

FAX. 312-243-5811

DESCRIPTIQN: A ) - A
&%orge/Dwschorge Installation Drawing DRAWN: MSH

SCALE: 31" DRAWING NO.

Shunt Bypass Connection Detail DATE:  03-03-03 | DWG. SIZE: B

C/D-5




@— .
K ® QK | 2
\ i g
( :: U4 Ol LAl %
/50mv Metering Shunt @ \ i = S
H L i
O
Q K O Omm® K | 2
/ e S
O O o O
@ @ 50mv Metering Shunt
o 0 O 0 -~ © /o
‘ ®
\A ‘ [ \\ N FTh—
\ \ AV Wz =
i) ini i i RO o © e
MNP NN e (%
Charge Ground Discharge Ground A o
5]
Section A-A ® ® ¥ ® S A
Plan View
ltem | Sym. Description Hole Size | Bolt Size | # Reqd./ea. Bolting Hardware/ea.
@ ® Shunt Bolts "G" 5/8“ 1/2-13 16 Top: FW, Bottom: FW, LW, Nut
@ O | Shunt Bolts "H" 1/20 | *3/8-16 8 Top: FW, Bottorn: FW, LW, Nut
@ (O | Shunt Bolts "H" 5/8" | *1/2-13 8 Top: FW, Bottorn: FW, LW, Nut
¥3/8-16 Bolts utilized for 2500A—-50004 Shunts
#1/2-13 Bolts utilized for 6000A-10,000A Shunts Note: Refer to Component Sheet for number o :
tyco Gus Berthold Electric Co.
v 1900 W. CARROLL AVENUE
FW= Flat Washer Electronlcs CHICAGO, ILLINOIS 60612
LW= Lock Washer COMCODE: ‘RE\/\S\ON# TELE. 312-243-5767  FAX. 312-243-5811
DESCR‘PT‘(?F%:Orge/Dischorge Installation Drawing DRAWN: MSH SCALE:3"=1 DRAVING NO.
Metering Shunt Connection Detail DATE:  03-03-03 | DWG. SIZE: B C/D76




	coverpage
	Model

	Fig1
	Model

	Fig2
	Model

	Fig3
	Model

	Fig4
	Model

	Fig5
	Model

	Fig6
	Model


